TPona "7 'on 2,7 2" 702

One who deposits by his -297w2 Y% 29177 7992 29792 17920 YRR 7OPDnRT
friend with witnesses is required to return it to him with witnesses

Overview

727 replied to 2R the reason the 1K is not believed that *% 1n7on 70X, with a wwn of
1N (when it was given to him with 0>7v), is because the rule is 17721 23X 7o
0°7v212 712 % 0°7va. Our MooIn explores why another 131 is not available.

mooin asks:
= 1HDINY 99N Y2 INT 1193 NININY NN 9NINN ON)

And if you will say; still (even tough that 0792 17°117:7% 7°7%, nevertheless) we should
believe the 121X (that he bought it), with a 1292 for he could have said there was a

mishap and the item no longer exists -
= 29092 19520 DEN 2P0 22) (owi x,y 97 mpY) AN NN 9N 9102 )99INT

As X707 11 states in the end of nv2n X 927 P79, regarding one who deposits an
item by his friend with a note —

Moo responds to an anticipated difficulty:
= 3593 N YT TIVYT DIVN 139N ONN MDIT NN 19N

And even according to the one who argues there (and maintains that the MW is
not believed), that is because the depositor can claim, what is your “v2 doing in

my hand, however here that issue does not exist. The question remains why is he not believed
10IN1IT N2 —

Nv0IN answers:
- 159 799515 AN S8 1IN INTT BN 19229 XM

! [At most] an 12X is considered a 7ow W, who is 75 for PONK, so he can claim that an 01X happened. [When a
W claims 0181, he must swear that it was 101X3; otherwise he must pay. We must therefore say that when nwoin asks
that he should be believed with a 2 of 10183, it means that he will be required to swear 2 >n13». His claim cannot be
more effective than the 1°»; since he would be required to swear by 10181 (the 13°1), he is also required to swear by
% 3n70% (his claim). ]
2 The depositor (the owner) was given a written note by the custodian (W) that this item was given to him as a
deposit. The rule is that the 72w can later claim that he returned the item (even though the depositor is still in the
possession of the note). The reason he is believed is because the 7w has a w» that he could have claimed 1011
Similarly here, even though there were 0°7¥ and we maintain 2°7v2 17 11172 7% 27792 17720 28R 7°pon1, nevertheless
since he has a 1°» of 101X1 (where he would be Mwd), therefore we believe him when he claims that he bought it.
3 In the case of the 7uWw, the claim of >N is contradicted by the fact that the 7po still has the qww; if the 7w would
have returned the 117, he should have asked for the uw, therefore even though he has a 1», nevertheless the claim
of "¥2 °Rn »72 T7WW is ‘stronger’ than the n. However here, there is no 7w, so we should believe the 12X that he
bought it, with a 13n of 101X1, since nothing contradicts his claim of *2 10791 nK.
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And the n'"'9 answered that certainly 28 could have asked this question to 737 -
= YDINI 9N Y2 INT )92 N2INNY ) DY Y9N N

‘if so (that 0°7¥ X712 he is believed 13»2 of 0"7:712) then even with 237¥ he should also

be believed (that he bought it) with the 132 that he could have claimed Y01N1 -
= 1952301 299N ANIAT 99 YINY N2 NYAMNY INYTIN PION NI NIN

However this question did not enter into the mind of »2X, and instead he refuted
727 from the Xn»=2 of 121 172Y XD, and 727 admitted to >2X that our mwn is

discussing a case of 7789 (where there is no 1 at all) -
= HOININ 27191 79129 NID I

So we cannot ask anything at all regarding yoix:!

In summation; we can ask why does 7127 maintain that if 2°7¥2 1707 he is not believed (by X7 &Y),
when he should be believed with a 13°n of 101x1.

moon offers an alternate approach:
- D192 90 INNY TAINT XN 9INPT RNT DIWH91) U

And there are those who explain that this which 727 stated here, that he is

required to return the 1775 to the owner with 27w, if he received it 2>7va -
= 5n1AaYN 9V MINY N¥IY ON 1N

That is only if the (72X) 721w wants to be exempt from an oath -
= 079299 951NN PRI YDINIT 1912 1IN NV YaN

However, if the "MW takes an oath, he is believed to claim >n7m7 with a 139% that

he could have claimed 01X, and the 12 is not required to return it with 27y -
= D27¥2 90 Y01V RONX 7AW XD APIN D PPN JIINT 1Y KXY Dryd SHywy9 »om

And this is the explanation of the previous X723, where 7127 stated, ‘we did not
learn this rule that 7P Y% X 728 without a 7¥1aw, only if it was given to him
2%7ya -

= 3p9Yn D927 1910 KD 99N HPa INT 1NN NPAY XD 1IN DTYa NV 1Y 901 YaN
However if it was given to him without 237, the 121X is believed without a 12w

4 Once it is %1 we know that the item is in the s'72X possession, there can be no claim if Y0183 (or YNIAN).
5 This [seemingly] explains why »ax did not ask that he should be believed with a 101R17 13°n, since here we are
discussing a case where the 12 is believed without a 7312w (if there are no 0°7¥), and if there are 2°7¥ he cannot claim
%3701 and be believed without a 7312w, since he does not have either the 13» of *n71n7 (since 0°7v2 1720 XK PR
o*7v212 1R IR), or the W of 1IR3 (which requires a 7y12w).
¢ Seemingly according to these »"> why is the rule that ApIn 12 PX 72IX; since he has a 131 of 10183, he should have a
110 and be believed with the won.
7 However an 7nX will be believed to claim °2 1n12n with a 7¥12w, even if 0>7¥2 1% 7on, since he has the 13°n of 101x1.
8 See 9ax 11"7 &, Moo (TIE footnote # 5) as to the meaning of 2"777.
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with the 139 that he could have said 2"'777> —

moon qualifies his statement:
- YAV TO98 PR ODIYN 0937 1PN RY 99N 23 799 TNUIN NIV NIPNIYV 0P 2990)

And we are discussing a case before the nos7 nyaw was instituted, so therefore
when he claims 2"'777%, a 7912w is not required —

mooIn reverses this qualification:
= NIMNT NI XN 2PWUN XYY OXINNT RIT NPIAYA 92T NIYIDD) NIPHMIY 9NNRY 1) ON

Or you may also say that this ruling (that the 121X is believed without a 7y12w) is
valid even after no°77 P¥12w was instituted, if we follow the view that no> ny2w is
only required when there is a 17127 8997, however the case here is not considered

a R1YRT RI97; the reason this case is not a X117 X717 -
= 09I¥19 12 2NMY DTN PRI MINMIN NN »7PD N XD 9INT

For the 12X claims, ‘it never came into my possession as work’, and the 721X does
not admit that he ever owed him anything, therefore it is not a X117 X117 -
=91 1159 9N 7792 5D 1319 NIN NINNT N7 2PUN XD
And a R1»T 8997 is only in case where for instance the claimant said, ‘you owe
me a hundred 17’ and the respondent agrees and said to him yes, ‘I owe you the
money’ -
= ANAMY AMHNY T2 1NN 1D 99N ¥ 113N 1Y 9N 9NN
The next day the claimant says to him, ‘give me the money’, and the respondent

says to him, ‘I gave it to you’, in this case he admitted that he owed money, so
therefore even though that now he is a 7571 1913, nevertheless he is 21 a no>1 nnaw, for this is
considered a X117 X777, however in our case where the 12X did not admit to anything, there is no
72w, since there is no R11AnT X717.

In summation; the n"> maintain that one is believed with a 7312w to claim >n9173 or % 1NN ANR
even if it was given to him 2°7¥2, since there is a 2% of 101X1. When 1127 said he is not believed, he
meant without a 7v12w. In a case where 2>7v2 1% 1701 R, the 1R is believed without a 712w with
the 1 of 0"777% (even NO°7 NYAW INRY, since there is no XR1MHAT RITT).

% In the times of the X3 they (3am1 27) instituted a o> NY12W that whenever one has a claim, even though the other
party denies it completely, the respondent must swear a no°7 ny1aw. In this case the owner claims the disputed item
from the 1R, so even though the X is a 2371 7913 (he maintains that it now belongs to him [since he bought it]),
nevertheless he is required to swear and substantiate his claim. So after they instituted no i ny1aw, the 1% will not be
believed without a 72w, even if 2°7va K7W 12 701, Therefore the ruling of Moo is only before no>1 N¥12w nIpn.
10 See shortly in this n1901n that the meaning of X117 8177 is that there is some entanglement between the parties.
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nmooIN asks:
- 129398 4952 172Y NI PAPY 7599 INIT INIIN 199295 WP 1T w119 Y
And the "' has a difficulty with this 219 of the o°w1on v, for what does **2x
challenge 721 later from the case of ‘he saw his slave by an 32’, where »2x asks -
- YPYIYY DY1Y SNY NN Y N1IY O1Y NIINT IN
‘if there are 2°7v, that the owner gave the 72¥ to the 121X, why do we need 1189; let
the owner bring these 2°7¥ and take back his 72y, since according to 727 if there are °7v,
the 121X is not believed, Moon asks what is s"°2aX question -
= 93999 97 PRT AN NN XD NPAYA 1D9ONT NS 23119 XN
X7 is effective, that the 328 will not be believed even with a 71¥2w, since he has
no %% of 101x3, etc. -
= YDINIT 11992 DAV NIN 13911 NN NDaY
For without 7189, the 12X is believed with a 72w, for he has the 1a%% of 12181!
= PANI 1PN APAWA 1D2ANT DIV 9N NIT 1ynwn X9
And from the Xn>m2 of 172¥ 71X, which states that 2192 92K X9, indicates that he
is not believed even with a 13w, and according to the ow19n W that is true only if X7,
for otherwise he is believed fy12w2a with a 101817 127!

In summation; the "9 asks, how can »ax ask on 7127, why does the &n»92 state x7 (if we are
discussing that he gave over the 72y with 0*7¥), since according to 1727, the 27y would be sufficient,
but this is not so according to the n", there is a difference whether it is 7% or not; by X1 X?, with
07y alone, the 7% would be believed ¥12wa for he has a 101X17 2%, however by 7% that 132 no
longer exists and the X is not believed at all (even with a 7¥12W) as it appears from the Xn»12
which states 0195 IR X7, therefore it was necessary for the Xn*92 to write 7X".

The 11" disagrees with the »"> and the n"=:!*
— ©27¥2 99NN TE98T 9INT INDT NNYVT 1)1 2PUN XY XINT 15Y9NY 1Y NN

And it appears to the 11" to explain that here by 727 it is not considered a valid

1 This w1 of the 0°w75» W maintains that when 7127 ruled o°7¥2 12 7172 7% that is only if he wants to be believed
*n7na (or °2 1n1on) without a mvaw. However if he is willing to swear, he is believed to claim *nami (or °2 10157 7NK),
with a 131 of 10181, even if 27v2 1> 70%.
12 The ruling there is that the 7K is not believed to claim, ‘you (the owner) sold it to me’, since it was 7x".
13 mpon is explaining that we cannot say (to support the question of »2x) that the Xn>3, when it states that the 18
is not believed, it means that he is not believed without a 7¥12w. Therefore the nX1 is superfluous, for even without
7R, the 1R is not believed without a 7312w. Accordingly s™ 2R question will be sustained. Therefore n1v01N explains
that from the &n>"2 it is apparent that the MR is not believed at all, even with a ny12w, and for that we need 71X
according to the »"™, so what is s" & question?!.
14 The n"9 maintains that the 7751 is not believed 7y12wa to claim >N with a W of a1 (if @°7w2 12 110n), not like
the n" (footnote # 11) and the n"9. However this requires an explanation; why not; he has a 1"n?!
15 This answers the very first question in this '010; why did not »ax ask, we should believe him with a 101837 13°1?!
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won that he should be believed to claim °narmn with a 712w, for the reason of the

one who maintains that 2°7v2 9917% 7992 2°7v2 1720 DR 7°p0n0 -
- (0w 2,xm 97 MY 9INTI APV 7931900 N7 11997 OIUN

Is because that since he did not trust him (even) with a 7p1aw,!7 as the X3 states

in MY noon -
= 183gr97ya NIN Y 91NN IN X71N2 1Y 99N 19N NMHNT

Therefore it is considered as if he told him explicitly, ‘do not return it to me,
only with a7y’ -
— 15 WOIN TPOANT 1NINT )92 1125010 NY 1950

Therefore he is not believed with a 13°» because he caused the loss to himself -
- 21929 INNY 29N PNT 920 209911032 DN Yax

However there in 12177 P70 where there is a 13°», they maintain that 2779 7993 PN

2I7Ya W -
= 13993 JINI 799 DYTYA NN 23991 HN 919N 179N 2PUN KXY

So it is not considered as if he said ‘do not return it to me, only with 257,
therefore he is believed with a .

In summation, the "7 maintains that if the rule is 2>7v2 12 172 7°7% 0°7Y2 17°207 22X 7°pon:, the
mw will not be believed with any claim (whether ®n71177 or °% 10757 AnR) with a 1n of IRy, for
the rule of 2>7v2 17172 X is that it precludes any claim based on a 13°n, since PWHIR T°0OKT IT'X.

mooin disagrees with the n'":
= 135799 )91 NN 9 D7¥3 7 99INNY P98 NPD NONRT INM 1DPONT NN PN VAN

However it does not appear that this is so; for even according to the one who

maintains 2°7v2 Y» 291 9%, nevertheless when there is a 139 he is believed, even

without 2°7¥; not like the " -
= PIIN 122 972y NNIT RINNN AN NPT 7599 NI SYPN 191 IND INY

For if it were not so (but rather a w»» is ineffective if we maintain 2>7v2 17711732 77X),

16 The x> there distinguishes between a case where the 7% admitted in the presence of 2>V (in which case w197 ¥"X
o°7v3), and a case where he lent him 2°7v *192, (in which case 2°7¥2 w719 77%). The X3 explains the difference that
in the former case the m»» trusted the M~ (for he lent him without 0>7v), however in the latter case he did not trust him
(anen X97), for he lent him 0>7¥ "193, therefore 0>7¥2 w192 8. It is considered as if he said to him XX *1v99n R
[akipimi
17 In my1aw noon it merely states 2°7 K27 (it does not state 712w32). In that case by a 171 there is no 712w (as there
can be in our case by a 1175 [in a case of a 101X1 claim]).
18 This means that both parties agree that the only way the 7p53/m?> will be exempt is if you return it with 2>7y, nothing
else is sufficient proof, not even a 3. See ‘Thinking it over’ # 2.
19 The 7po1 accepted these implicit terms, therefore he agreed to forgo his right to be believed with a 1.
20 See footnote # 2.
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you have this difficulty; what did »»2x challenge 77127 from that Xn»92 of 172¥ IR
32N 792, proving -

= DY1¥2 19 INNY 7298 PNT 2INY207
That the Xn>12 maintains 2972 W 917 798 IR, not like 727; that is no challenge to

127 -
= DY 19 INNY 7298 D7¥2 19530 NN NITNN NPT HNRT 22MPPaYA NI XI'N XN

Since there is a Xin in NY1RY NOON who maintains one who lends his friend with
27y, he is required to pay him back with 237y -
— 7592 Na9Y 939"

So 1729 will maintain like that xin; what is s""ax question?!
— 249DINIT IV NIINT 231\‘1‘,7ﬁ:l 799 MIIMAYT NXIN NINH IANT DIV NIN

Rather we must say that it is a valid question because even that Xin in niwaw noon,
agrees by a 1772 that he 1s not required to return it 2°7¥2, since there is a 3% of

YRIN1 so therefore -
$ 0N 12929 25W19995 NN 799 DY 1D PINNY P98 )PNT

He is not required 2>7w32 9 99117 for the wn is effective. Therefore N0 prefers
the n''1 wy9ss.

Summary
»aX could have asked that he should be believed with a 101837 13°1 (but 7°nYTR PPOX RY;

the n"7). The n" maintain that indeed he is believed 101X17 12°2 (with a 7v12w). The
n'""1 maintains that there is no 13°» since WK 7°09X7 1K (if we maintain 171177 0%
0°7v32).

Thinking it over
1. According to the (°»1 °X of the) @°w1on W that 727 maintains that an 1% will be

believed av1awa even if 2*7v2 1% 1701 (for he has a 101817 W7),%¢ what is »ax asking
on 7127 that even 2°7v2 he should be believed with a >n71mn7 13°72; 1n a case of >N

2! The 0"~ amends this to read 7207 (instead of X1207).
22 The p"n of X71°N2 72 77%7° ' on 2,X7.
23 Their dispute, as stated there, is only by a m%», but not by a 117p5.
24 Therefore s"2x challenge is upheld; how can 721 maintains by 177p2 that 0>7v2 12 9m% 7%, since this X172 clearly
maintains 2°7¥2 7°11777 ¥"X and even the one who maintains by a loan that 7°1177% 7°7% that is because by a loan there is
no W (of 10IX1), but by a N7 where there is a 131 of 10IX1 everyone agrees that 7"1na> X", contrary to 727. In any
event we see that in order to explain 2% we must say that by a 175 there is a 13 of 10181 according to everyone (even
if we maintain [by X177] that 7°113% 7°7%), this is contrary to the n" nvw.
25 See (the text between footnote # 3 and) footnote # 4.
26 See footnote # 7.
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it is a X11m»7 ®717,%7 and by a X117 X717 there is a AyAw 217, so what is s™ax
question; 727 agrees that with a 7312w he is believed even when there are 077?128

2. According to the n"2 who maintains that if the ruling is 2°7¥2 177217 52X 7poni
7Y 1o 0%, the 7901 will not be believed with a 131 of 101K3, since 7°0ORT KT
mwoir;* what would be the ruling if the 7751 claims 10183, will he be believed with
a myaw? If yes, so why is he not believed with a 11?13

27 See footnote # 10.
28 See mmw "0 and fwn nbM.
2 See footnote # 18.
30 See (1"7v) in XpO*® 71"7 71 'oIN.
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